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21. He was surprised ................. me sitting behind his desk.
1) saw 2) see 3) to see 4) seeing
22. My friend has a .................. woolen rug on the floor in her bedroom.

1) lovely long grey 2) long lovely grey 3) grey lovely long 4) long grey lovely

23. All the papers .................. by the time the teacher came.

1) were collected 2) have been collected 3) are being collected 4) had been collected
24. She does not know much about computers, though sheis an .................. person.

1) educated 2) education 3) educate 4) educating

25. People have always used .................. products as medicine.

1) normal 2) natural 3) artificial 4) private

26. The employees working in this office are all skilled at .................. their duties.

1) robbing 2) mining 3) removing 4) handling

Nowadays, government — supported nursery schools exits in many countries for children from poor backgrounds, or

with mental or physical handicaps. An example is the Head start pre-school ......... 27n......... in the United states, run
by the federal government, which .......... (28)........ almost 500,000 such children. Universal state — run nursery
......... (29)......... , however, is still rare, except in the East European Communist countries. Where it is ...........(30).......
for all of the people ........ (30).......... , more and more children of Western nations attend nursery school. This is partly
because there are also many more working mothers than there used to be.

27. 1) experiment 2) programme 3) presentation 4) experience

28. 1) designs 2) serves 3) includes 4) controls

29. 1) competition 2) observation 3) information 4) education

30. 1) probable 2) available 3) responsible 4) reasonable

31. 1) when 2) yet 3) since 4) whereas

One thing that makes the Olympics exciting to watch is that you never know when the unexpected events will
happen. An athlete who is expected to win may have an accident, or a little-known athlete may give a performance
filled with energy. Suddenly, that person has got a medal.

Some people say it is luck when an athlete comes from behind to win an Olympic medal. But mainly it is years of
hard work and dedication paying off. Elizabeth Manley was a Canadian. She was the Silver medalist in women’s
figure skating at the 1988 winter Olympics. At those games, the attention of most people was on the top two
contenders- East Germany’s Katarina Witt and America’s Debi Thomas. Elizabeth Manley surprised them all.

Manley tried very hard to get an Olympic victory. She was shorter than most skaters and gained weight easily. This
made it harder for her to keep in shape. Worse, she often became nervous at contests and did poorly.

But Manley had strength. She was quick enough. Her skill at moving quickly let her do hard jumps. She was
powerful. So she could jump on and on without getting tired. Most important, her love of skating was fervent. She
called it “her life”.

32. What is it that causes the Olympics to be so exciting to watch?
1) The expected winner is easily predictable.

2) You can’t predict who the winner would be.

3) An athlete likes to win and always he does.

4) A little known athlete is never a medal winner.




33. An Olympic medal winner succeeds because of his/her ..................

1) good coach. 2) luck and chance.

3) interest in gold and silver. 4) continuous practicing and dedication.

34. The athlete who attracted the attention of all the audience at last at the 1988 winter Olympics was .............
1) Katarina Witt from East Germany. 2) the two top contenders.

3) Debi Thomas from America. 4) Elizabeth Manely from Canada.

35. Manley’s wonderful characteristic as an athlete in Jumping is her .................. .
1) tiredness 2) love of living 3) nervousness 4) quickness in jumping
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